Day 1 LI: To be able to add fractions with different denominators.

Add Fractions within 1 Add Fractions within 1 Add Fractions within 1 Add Fractions wihin 1

la. 'Dl'.lrl'qﬁlﬂl fhe colculafion shown 1b. 'E-I'.l-rlqtnlnllﬂ'ls\II'lnl!I calculafion shown B Chacitis T CHlialoion Shaun

eedorw.

rqﬁlﬂ'l.r the calculafion shown

il 1
[TTTTTTT -

e

-!.—fl
.

L]
C T T T ]

%++-|;| ++%-Q 1_+L_|;| L,,_L.D

A 2 & " 5 15
# L L # L | ]
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3a. Shade fhe model to complete the 3b. Shade the model to complete the Ta. Shade fhe maodel to complete the Tb. Shode the model to complete the
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Add Fraclions within 1

Day 1 Challenge Questions

Add Fractions within 1

¥a. Complede fhe calculalion shown
beedow. Give your answer as an
equivalent fraction.

¥b. Complete the calculafion shown
beedow . Give your answer as an
equivalent iraction.
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1Ma. Complete the calculalion below
using your knowledge of equivalent
froctions.
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11b. Complele the calculation below
using your knowledge of equivalent
fractions.

12a. Circle the comrech answer.
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Answers

Waried Fluency Waried Auency
Add Froctions within 1 Add Fractions within 1
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Day 2 LI: To be able to reason and problem solve adding fractions with different
denominators.

Add Fractions within 1

Add Fractions within 1

Add Fractions within 1

Add Fractions within 1

Ta. Thiz model shows the addilion of bso
racBons with diferent denominadors.
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What calculaBon could it show?

Ib. Thiz model shows he add¥fion of bwo
fractions with diferent denomindators.
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What calculation could i thow?
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da. This model shows the addilion of beo
fracBons with diferent denominatars.
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What calculaBon could it show?

db. This model shows the addifion of bwa
fractions with diferent denominabors.

What calculafion cauld it show?
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Explain your answer.
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fa. True or folse?
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Show your working.

]

L

éb. Max and Onwa hove eaten parf of a

h Lﬂ

uh of fhe cake. ¥

=
o

W
Fi 5
I ahe blh!“iﬂrldfﬂf
fhe coke.

What fraction of the cake could they
have eaten allogekher?
Show your working.
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Add Froctions within 1

Challenge

Add Fractions within 1

Ta. Thiz model shows the addition of two
fraclons. All fhe denominators are
different.
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What calculaBon could it show?
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Th. Thit model shows the addion of hwo
fractions. All the denominalors are
different.
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What calculation could it show?
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Ba. True ar false?
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Explain your answer.

Bb. True or false?
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Explain your onswer.
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What fraction of fhe quiche could they
have ealen altagether?

En!il:nu' your working.

¥b. Tom and Harper have eaten part of a
garic bread.

||n1-+af|.a- garlic bread. L 5__}
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=g fhe garlic bread.
Haorper

‘What froction of the garlic bread could
fhey have eaten allogether?
Show your working.

Annie solved this calculation.

Can you spot and explain her mistake?

4
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Twao children are solving 3 + =

Eva starts by drawing this model:

Alex starts by drawing this model:

Can you explain each person’s method
and how they would complete the
question?

Which method do you prefer and why?




Add Fractions within 1

Developing
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Day3 LI: To be able to add fractions with different denominators.

Add 3 or More Fractions

Add 3 or More Fraclions

la. Complete fhe model below.

lb. Complete fhe model below.

Add 3 or More Fractions Add 3 or More Fractions
da. Complete fhe model below. db. Complete the model below.
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Challenge.

Add 3 or More Fractions Add 3 or More Fractions
Ta. Complede fthe model below. Tb. Complete the model below.
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What fraction of the field is covered altogether?
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Varied Fluency
Add 2 or More Fractions

Developing
—
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Day 4 LI: To be able to reason and problem solve adding more than 3 fractions.

Add 3 or More Fraclions

Add 3 ar More Fractions

Add 3 or More Fractions

Add 3 or More Fractions

Ta. Marfha has added three fractions
based on the models below.

Ib. Rick haz added Fhree inoclions based
on the models below.
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Iz she comect? Prove il
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Is he correct? Frowe it
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d4a. Friva haz odded three fractions based
on the models below.

db. Tony has added three frocions based
an the models below.
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Iz he correct? Prove it
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Za. Use the clues below o work out which

3 fractions add together to fotal ——

- One of he fracons is .

= The other bwo denominators haowve fhe
same value oz soch other.

= The other bwo numeratorns are odd.

T

Zb. ke the clues below 1o work oul which

3 fracfions add together to fotal -

- One of the koctions 5.

= The other two denominators have the
same value as each afher.

= The other two numeralon ore aven.

77

Ba. Use the clues below lo work oul which

3 fractions add together o fobal 12

« One of the denominators is 18. Another
is hallf of this.

« One of the denominators is a third of ¥.

= Mo numerabor s greater than 4.

= Twao of the numenalors are even and
one is half the site of the other.
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Eb. ke the clues below to wark oull which
3 fracions add together o fotal 1k

= Oine of the denominabors is 12, &ll of
fhe denominalors ane even.

= Oine denominator is half of the ofher.
= One frachion is a half.

= Mo numenador is greater fhan 2.
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da. True or folse? Lodo's calculotion gives
the longer answer.

L
et

Explain your answer.
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Jb. True or folse? 3am's coloulofion gives
fhe larger answer.
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Explain your answer.

da. Trwe or false? Sve's calculotion gives
the korger answer.

&h. True or false? Tim's calculation gives
fhe larger answer?
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Add 3 or More Fraclions

Challenge Questions

Add 3 or More Fraclions

Ta. Eita solved fhe calculafion below.
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I% she comrect? Prove il

Tb. Hoed has solved fhe calculaion
bBeedow.

1 2 1 .1 _ 40
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Is he comrect? Prove it

Ba. Use the clues below bo work out which
3 fractions add together to total 22

= One denominator iz 34, Two of the
denominatars anre kess than 10 bt
greafer than §.

= The denominaiors are aoll different and
are fachars of 34

= One of the numerabors is 2.

= The other bwo numerahars are odd.

Bb. e the clues below fo work oull which
3 fracSons add logether fo fotal 22

= Dne denominator is 30. The ofhers are
diferent muliples of 5.

= One denominabor can go into 30 three
fimes.

= Al of the numeralors are even.

= Mo numernator is greaber fhan 4.

o True or folse? Jen's calculation gives
the longer answer.
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¥b. True or false? Kai's calculation gives
fhe larger answer.
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Explain your answer.

Eva is attempting to answer:

3 1 3

st 1020
I .
&= 5 10 35

Do you agree with Eva?
Explain why.

Jack has added 3 fractions together to

17
get an answer of =

What 3 fractions could he have added?

Can you find more than one answer?



Reasoning and Froblem Solving
Add 3 or More Fractions

Developing

Ta. Marfha is incormect because she needs
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LI: Explore the Key Themes in Skellig

Listen to Chapters 28 - 30 on Youlube

Are there any patterns or connections in this story? Write down any:
o |ldeas
o Images
o Themes

Map out a spider diagrom with your answers:
o Where do we see the theme in the story?
o Does it involve a certain character?

Write a sentence or record a video explaining the links you've made.
Write down your answers in a spider diogrom - where do these
themes appear in the story? Do any of them link?



Mina Skellig The Baby

- The owls in the attic ) ;_/C/’_)S wings like;7o oird - Michael’s dreams about
- Watching the nest - /s hean anget: the baby
- Drawing a bird e - Dr Death visiting

- Home schooled: s In the hospital

“How can a bird that is born

: o
for joy/ st i@ cpge Ofg”\i\[lﬁ ..o Sickness and Death
LI o - e o)

Dad , R Skellig
- Pigeons in - Skellig Themes - Asking for Aspirin
the box : (medicine)

. Q - Too weak to move
Vichoel o ,‘o Whimpering in pain
- The owls in the attic
- Watching the nest School Mina:
- Dad showing him the pigeons EERal PO ) Home schooled:
- Asking Mum about shoulder 0wy con 6 bird that is born
blades 77 ° for joy/ sit in a cage and

sing?"
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LIl: Write a poem

Write a poem with 4-5 stanzas, using descriptive language to describe the senses you
would have experienced if you were there.

e Listen to Chapter 31 on Youlube... with your eyes closed.
o Listen carefully to the words being used.

o What did you imagine whilst you were listening?

e What would you be able to hear if you were there?
o Breathing
o Creaking

o Heart beating?

e What about the other senses (sight, smell, taste, touch)?



Example:
Hearing

Heart is beating, getting faster,
Booming, pounding, growing louder

A flutter now, my heart maybe?

| know why the birds sing

Lifting, floating, getting higher,

The ground moving, getting lower

Repetition

Toes pointed, stretched out, deep breath in,

| know why the birds sing

Touch/
Feeling
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LI: To write a diary

What do you think Michael is thinking about at the moment? Share his thoughts and
opinions about recent events in a diary entry.

Box up:

Introduction Date
Dear Di.a.rﬂ

Events - what has happened?

Feelings - how you felt

Conclusion




LIl: To write in role

What do you think Michael is thinking about at the moment? Share his thoughts and
opinions about recent events in a diary entry.

Toolkit:

Follow the diary structure
(date & dear diary)

Write in the first person:
I, I'm, I've, me, etc.

Write in chronological order:
The order things happened in

Use informal (chatty language)

Include lots of feelings - how you felt

Write in the past tense

Include lots of details about events and
places you've been - can you use a noun
phrase?

Use fronted adverbials:
Time, place, manner, frequency, possibility e.g.
Before Dad came out,
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LI: To write a prediction

Now you've listened to Chapters 1 - 31 of Skellig, what do you think is going to happen in
the end of the story?

Write a paragraph explaining what you think will happen?
Why do you think this?
Include an example of parenthesis.

How does this prediction differ from your first?



